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GENERAL AWARENESS

1) Planning Commission Deputy
Chairman is Montek singh
Ahluwalia Who is the persent
Secretary of planning Commission ?
1) Sindhushree Khullar
2) Sudha pillai
3) Usha Anatha Subramanian
4) Mrs.Poonam Malakondiah
5) None

2) As per theestimates of planning
commission, the number of persons
living below the poverty line in the
country has declined 40.74 crore in
2004-05 to in 2011-12.

1) 27 crore 2) 32 crore  3) 37 crore
4) 38 crore  5) 39 crore
3) The recent estmates of the
planning commission say which of
the following states had the highest
number of poor people(5.9 crore)
Living below the poverty line in
2011-12?
1) West Bengal 2) Maharashtra
3) Madhya Pradesh 4) Bihar
&) Uttar Pradesh
4) Union Minister for of state for
planning and parliamentary Affairs
Rajeev Shukla said planning
cammission Estimates poverty line on
the basis of
1) Monthly per capita consumption
expenditure (MPCE)
2) Monthly per capita income({MPCl)
3) Yearly income of Individual
4) Average Expenditure of Munth}

{AEM) 5) None s

5) Which committee recom mended
MPCE of Rs.447 for rural areas and
Rs.579 for urban areas asthe
poverty line for 2004-05, ac-:eptgd
by planning comrnlssmnj
1) Kelkar 2)Abhijith Sef-.

3) Suresh Tendulkar ~
4) Amartya sgn 5} None
6) For 2011-12 the,_ MPCE wasat <816
in rural and Rs... in urban- areas,
fixed by, plannlng Cumm:ssmn
1) 1000 | 2) 850 ——3) 950
4) $200-.)5) 2000 -
7) Planning Eommlss-lan inJune
2012, cansmuted an expert group

under the clwlrmanshnp of
Whorm....to review the methodology

far measurement of poverty
1) C.Rangarajan

2} Montek singh  Ahulwalia
3) Chaturvedi  4) Manmohan singh
5) Divya swamy
8) The president conferred padma
awards recently on eminent-
personalities from different fields.
Who among the following has
been conferredthe Padma
Vibhushan,the second highest
civilian award this year?
1) Anumolu Ramakrshna
{posthumously)
2) Jawahar Lal Kaul
3} sudarshan Pattnalk
4) P. Goplchand 5} Ra Mashelka
9) Who among the following is the
winner of the best actor Oscar in
the 86™ Academy awards?/
1) Jared Leto  2) Leonar

3) Matthew Mccnnau;___y it
4) Woody Harrelsml/ —
&) Mone of above R,

10} Who among the fnllhwmgﬁa
been confe Greer, Erus er nf
the Year A@’;Eié} the pcest:g:ous
1A olive crown-Awards-cecgnitly
1) Praston Jeshi by
2} Sh§:h| tham;&r— _/
Gan

pa‘t :f

ne of ‘abwé“
N 1,13 ar sewnw summit held

<i.\~ bet een 24-35 March 2014 held

\at ™~
,-’ ernmg 2) Tokyo 3) The Hague
o~ 4}.Berlin 5} Washington

132 Which of the fol.h::wmg countries

A will host the 18" SAARC summit
Aon 14™ Nov 20147

1) Maldives 2] Sri Lanka 3) Nepal

g 4) Pakistan 5) Bhutan

13) China has allowed direct domestic
trading of its currency Yuan
against The currency of which of
thefollowing countries an 18
March 2014 to encourage such
trading as it internalizes the
Chinese currency?

1} lapan 2] South Korea
3) New Zeland 4) USA
&) Mone of above

14) Who amaong the following became
the national ambassador of the
Earth Hour 2014 that was

ohserved on 29 Mar at 8.30pm?
Earth hour is an annual global
event at which hundreds of
millions of housgholds businesses
and govts argnd the world turn

3) 7 April
April
day 7 April
lighted the serious
threat of vector

1) Let'Vectors die

Y 2} small life, big threat
icaprio T ) Free world from vectors

4) Say no to vectors
5} small bite, big threat

7 17) Financial guarantees and

performance guarantees issued by
banks on behalf of their clients is
called?
1) Bank Guarantee
2] Bank undertaking
3) Bank Insurance
4) Bank Avoidance
5) Bank Motice
18) Credit instrument that originates
from the creditor (drawerjon
which the debtor(drawee)
acknowledges his Liability is
called?
1) Bill of Lading
2) Bank Guarantee
3) Bill of Exchange
4) Bank promissory note
5) Payment Receipt
19) Who became the new chairman of
Industry body Cll {Confederation
of Indian Industries) ?
1} 5.Chandrasekaran
2\ rana Kapoor
3) Ajay Shriram
4) Nandan Milekani
&) Ratan TATA
20} Jens Stoltenberg will take over as
new chief of the 28-nation military
alliance NATO in Oct 2014, He is
the former prime minster of which
of the following countries?
1) Denmark 2} Belgium 3) Croatia
4) Bulgaria  5) Norway



21T IUCH is an international union
associated with which of the
following?
1} Cure and Neutralisation
Z] Consumption of Mutrients
3} Canustries with Muclear poaer
&) Canservation of Maturs
5} Hane of abowe
22) On 9 April 2004, Which Indian
cricketer was named as gne of the
five crickets of 2004 for his
perfarmants im 2013 by WISDEN 7
1) Wirat Kohili
2 Dhani
3) Rohil Sharma
4} Ravichardran Ashwin
5) Shikhar Dhawan
23] Deodhar Trophy |s assecated with
which ef the following games?
i] Faotball ) Hockey 3) Basketbsl
4] Cricket 5] Mone of above
24} Wha is the winner of Deadhar
Traphy 20147
i) East Zone
2} Harth Zans
3} Wt Tone
&) Cantral Zone
&} Seuth Zomne
25 TROPEX, drill recently conducted by
1) Imdian Army
2) CRPF
3) BSF
4] LIS Army on Indiamn Sail
5] bndian Navy
26) The National Vaters day ks
celebeated every year on which of
thie follewing dates in India?
)21 jan 2122 Jan
3} 23 Jan 4] 24 Jan
5} 25 Jan
27) As per the data available with SEBI,
the Foreign institutional investors
(Fills) have mada net inflows ofa
staggaring nearly —..in the Indian
stocis during fiscal year2013-14,

1) Rs. 80,000 & ?
3) Rs. 60,000 cr 4] Rs. B0,000 ery
5] Rs. 1,00,000 o 1

28} On 3 june 2014,RBI annau
gapond bismonthly monetary ™
policy reviews, in which SLﬁtqduneﬂ

by ? ) -

1) 26 basls points A . .
2) 100 basis points” 7 ) e
3) 7S basispoinid S
4] 125 basls pqun‘ts i

5] 0 basis ]:u:lr|1:: ™,
20} Mew SLR 22.5% :He:n-.ré fmm
1} 1—_.|IJ\|'_:|I .-I{Fl-ﬂ -
] J.Luﬁ.ugu’s.t,i";ld__ F
3) 1 -4peil , 2004
4)14 —Juvne 3014«
5 Hone H i
30 O 3 June 2014, BB decided to
montinde 10 provide ligusdity undar
7-day and 14-day term repos of up
T Percent of NDTLNet Demand
anid Time Liabllities | of the

) Rs. 70.000€er

-

dits_

banking oystem?
1115 2120 3] 25 4) 1.75 51075
31} REI reduced the Equidity provided
under the Export credit Refiance
[ECR)Facility frarn 50 percent of
eligible Expart eredit outsianding o
17 10% 2 1B%
1 32% £ 22% 5 1IR
A2} BB moved away (rom the sector-
finance refinance an the
recommendations of ...
1] K.C. Chakravarthy Committee
21 H.R. Khan Committee
3] Lrjit pated committes
4] Anand singh committes
5] Mone of above
33} The KB decided to enhance the
efgible limit for forelgn exchanga
remittanoes under the Liberalised
Remittands schiema(LAS) to. from
the @arlier § 75,000
1) % 0,000
21 % 95,000
3)5 1,50,000
4) 5 2,00,000
§)§1,25,000

34] CPl| Consumer price ndex) "

InMation, which accelerated fo

B.59% In mmzouW
to. by January 2015 d5-per the \}

statement of Raghuram Rajan? —
1) 7.5% 2) 5% IPEO%
4)70% 5
15) REX's estimated
coming i p-er i forthe FY
20141 *
1)6 2)5.5 7855 “Hamﬁiﬂnm
36 R albw anks 1o & lpars
.pEars Lo

ll:l them ensure
{, l'.-EIIZIhi tn Ifil long term
Ay 20147

PN ,.'1}29&5 26°8)10 4) 18 §) None

{_ 37) On 22 May 2014, Agence Francaise

" deDeveloppament (AFD) extended
1__|rne-.:il' credit (LOC) aof.. millian
- guUTe te Indian renewable Energy
Development Agency Ld[IREDA)T
J11150 2) 200 3] 500 4) 125 5) 100
38} On 29 May 2014, India was pranied
% 100620 mallicn for Sarva Shiksha
Abhiyan [, the largest ongoing
education for all programme in the

warld by ?
1}I0A 2} ADE 3 DDA
4fIMF 5} World bank

34) Himpshi Naka was appointed a5
Tha Wice president and suditor

General of,,,
i X IMF 3) Warkd bank
4§ AFD 5] Mone

40) Which bank name incdludad in

sapond schedule of RBI Act, 1934
on 21 May X147

1) Barik of Baroda 2} NABARD
1| Bharathiya Mahila Bank
4] CITl Bank 5] ABN AMAC

GENERAL ENGLISH

ﬂlml:lnui.-ll. 55 1 Read the
Fallcrwin g prcssage chndally and answer
the quacsiions glven below 1. Certain |
words/ phrasss havg bBpen printed in
Baald b help pau locatethem whille an-
swering some of the guestions.

Onece a King saw some young
bhoys. pelting stones gn a snake_ He
prevented the boys om killing the
srake, Thus, b saved s life, The
=nake, which was the king af the
Snake-World, thapke=d him and
Tavoured him with & supernatural gii
by which e could wnderstand Lhe lan-
animal, Bait he warned

i -u!l,gm:e al the secaet

BLIME Il..ﬁ.h..lmnmjn:.rul.
: Ui, Che: hing smiled and

Tedl. The queen, whis was E“l]-l'lng
him. was cumous Lo aolbe the
ging countenance of the king. She
ed him te =0l her the reason [or
he smile. But the king kept silent as
e divislgenes of the seoret would cost
Teim ks lifz. The gueen felt offended
and thewght that there was something
which the Ring did net want to tell in

AL ight, when the king was re-
lacimyg in the serandab, U qussn o
preavted the mxres quiesiion and dermandd
the answer, The king hen tedd her thal
thie divulgensoe of thet socret wonsld cost
him his [fe. Honetheless, the gueen
persisted by throwing tantrams. Sl
when the king kept his silence, she
atbacked his aell-respect by calling him
a ~“Har” and mruttered that all his ex-
pressioms ol endearment like— Yow are
deirer W me than my very life™ — werg
nothing bul a pack af bes. The king
hiowever, could not B the attacks on
his self-respect and eveniually coneed-
ed L divulps Uhe secrel on e Folllow-
i dery irUhe royal ganden: and made
up his mind to saerifice his e,

A donkey overbeard the king's
resahee ard decided 10 save bim, be-
cawse Uhe king was righteans, 5o, o
plekesd up one of his frends — Uhe goal
and Lheey bath decidd to save the king.

Mext day, when the King an b=
redinues were an the way Lo Lhe ravadl
park, the donkey and the geal stond
comveraing an ane side of the path, T
King ceverivsand the goal saing Lo 15w
donkey, “Youw are a lool bol mal as big
loal as is the king.™ Having, heard s
Uhie kimg was curious 1o know as towhy
wins he betng called a “Digges fonl™ S,
he asked the gant, “Why do you think
thal [-am & bigper lood tham a donkey®
“The gral replied, “Look O King ! Today
wvou are going to die to please your wilis
‘st domarmow whien your wile iInherits
all yaur wealth be enjoy iU with a new
ke would she ever think of yo 7 This
statement of Lhe goal opened the eyes
of thie king and be realised his (ol
He then reconsidered his decision (o
die 1o please his quesn and resoleed
neal to sacrifice his precious Kl 5o he



aaid 1o thoe el “Pray, then el me wisil
LB 2 | oamm o commemified 1o (el har
the pecret.”

The goat said, “If you wanl do
come out of the mess lhen Fo and (e
her that you are ready to reveal io her
the scerel on e condition Uhal she
agrees 1o recelve one hundred lashes
on her hack®.

Whien the lking reached the gar-
den, he saidl o Lhie quegn, *| s mow
resdhy 1o 1]l you the secrel an the con
|;|_I.I!'I|:||:| that you are willing 19 recedes
o hundred lashes In refwsn™, The
gueen consldred the condition a joke
and nodded in The king then
wanved &t one of his guards 1é lash her
with all his power. Andno sconer than
she received twe lashes she wailed and
shcualed “Mal Mal Stop, do nol lash me!
| don't want to know the seorel. niow™

Thie kdng then sald scormfulby, “Yow
wanted Lo know the semet ol e cosl
ol oy lilfe: Dt e $ou Sanm wanl 1o
know because you have to save your
skin. You deserve a fear more laghes.”
But before he coubd order his man 1o
ghée her a fesy maee Inshes, the king's
trustworthy minister fdervened ninc
resfuested him to frgive e Thss, the
queen was nol Bashed lurther, yel she
neever recefved the same hamour arkl

ity
AL Why did ihe snake give a gl 1o
the king ?
(1] As the king did not kill the
anake
(2] A= the smakee liked the king a
st
[ As the King was an honour-
able man aned wanied U gin
Al AR the kKing had saved the
© smake from a few boys who
were trylng ta kil it with
siCnes

5] None af these
42, What can poesitly be the maral
of the stary #
(1] A siftch in time saves nine
[2) Homesty is the best policy
|3 Promdscs are meantd fo be
brrolgen

[4) Beauty Bes in the eyes of the
behaler

(B Do onto others a5 you woad |

want others to do b o
43. Why dil the quesen agrees Lo the
condition laid down by the&ing -
Inm'dtrlnlnmﬂumr&g
(L} As shewas very sirong phys-.
lcally and would gfidure the
condition laid down |
12) As'she thoughd that the kifig
s andy jaking s sl not
actually dowhar be had said
13 A the condition Lisd down by
the being wak riot too diffkeult
1 As shie desperately wanted Lo
11 AR secrel and would
di amytHing in-re
{5 Noneof these
i, Why did thie king éhuckle 7
(1] As hehad feari an ant tak-
Img abous thie swes [allen on
ke grenend
£2] As hewas enoving his brsalk-
fast o ot
A As he knew that the quesn

el nod hear the animals
talk
4] A5 he was very proud of his
nEwly acquined power
{B) Mane of these
4%, Which of the lofkoeing words can
b used Lo discribe the queen #

(4 Only [4) and i)
(50 Al ilve thres (AL (8] and (T}
4. Why did the queen nat receine
the same= homour and dignity as
she had before ?
{1] #s the king had left her and
Al was no longer the quesn
[ As alve haed cansd for her owm
e but nat far the life of the
king
13 As she had told the secret to
everyone in the kingdem
(3} As shewanted to punish the
ki
B4 None of thase
A7, What explanation did the
give to the king for calling him,

bigger food than a donkey # "-\

(1) That the king had been wrong -,

to tell the secret to theguesn ‘x ",
ruling

E!]’l‘huu::}m;gm
his kingdom very well

ﬂmmuﬂm }

secréq only 6 she left him
MARN
Eﬂ‘_!.‘fur. onee she was okl the

", %:ﬁ sl woukd have (o be

I:ﬂ]l' al the quesn would hanve

| ioialk the animals ance she
S knew the secret

4] That the gueen could never

tell anvens else aboul the
socrEl

{51 Bone of thess

48 Which of the lollowing can be
sald about the king

1 He was mobis

(B} He was Impatlent

IC} He was selless

(1) Oy LA

[ Cmby (G

[ Only (A) and (B)

[4) Omly (A)and (C)

(5] All the three (&), (B and [(C]

5L Why did the king agies Lo =]l
the secret to the gueen in the

first place ?

(1] Asthequeen had been really
persistent and had said that
e king was dishanest

_/ﬁ_E'}:'nﬁntz
B e

1) & he had wanted to share
the secret with ssmecns far
r very kang time

i3 A he did ol walus his Lide

it

|4} s e knew that by telling thg
guesn his secrel she tog
wipnihd get the same powers
a= hirm

5] Mone of these
Directions (§1- 53] : Choose the

ward/group of words which {8 mest
ssmilar in meaning Lo the word /group

of words printed in bold as used in
the passage.
51,
i 12} witrsessed
|3 Higed 14} demanded

é rh rited
farm 2] clauss

k] silusatian

TG
:.jl.: n.g [ practicing
[4] wasting

i)
/f g

e word f proup of words which
is most oppeslie in meaning to
the ward f grensp of words print-
ed In bobd as wsed in the pas-
BREe
B4, CONCEDED

(1} realized ) gave up

13 resiated 4] relacced

15) sarrendered

5h. RIGHTEQOUS

(1] seared (2} wrong

(3] homourable (4} Enooesl

(5 wedrd

Directlons ( 36 - 60] : Rear-

range the following st sentences (Al
(B, 1], D). (E} and {F] in the proper
sequende to form a meaningful para-
graph: then answer the questicts giv-
en below them.

(&l S0 the next day when the
el hiad fiown of ta look [or
fiooxd, the bird catcher spread
hils net under the nee

(B Ome day & bird catcher wan-
dering through the lerest
egme upon a banyan trese
where a lleclk of pigeons rest-
ed.

[C] Bt as they wers very clever,
they fapped their wings to-
gether., |ifted the net off the

«. ground and few paay with
it.

|0 Bie knew that il he managed
ta cafch even: halfl Uhe phgecns,
hie wrauld B2 alle Lo sell them
in the market for a wery gl
price.

[} To their shock, they all real-
fmend At vy ] Tarkded right
into the n=t that the bird
calcher had aed for them.

(F1 That evening when the pi-
geons came back, they flew
donen Lopether 1o Uhe foot of
the banyan tree.

B8, Which of the ollowing should be



the LAST [SIXTH) sentence af-

ter rearrangement 7
(na 2B
@ (4} D
IHE

B7. Which af the following should be
(he FOURTH sentence after re-
7

(1B [2C
3D 4IE
B F

58. Which of the Tollowing should be
the SECOND sentence after re-

arrangement ?

1T 2] B
@ [4] D
i5)F

B8, Which of the fallowing should be
the THIRD sentence afler rear-

rangement 7

(1A (2] B
3Hc (4] Dv
IHNE

60, Which of the following should be
the FIRST scntence after rear-

rangement 7

ma 2] B
3o (4 D
B E

THrections [B1- 65 : Which of
the phrases (1}, (2), (3) and (4] given
below each sentence showld replace the
phrase printed in bold in the sentence
to malce i grammatically correct? If the
sentence is correct as it 15 given and
‘Mo correction is required’, mark (5] as
the answer

61, He was & men of few words but
wag very intelligent and respest-
ed by one and all,

(1) man of few words

(2] man of few wordings

(3] men of few word

{4} man to fow words

(5} Mo correction regulred
82, She was freling very aslespy to-

day as she had not slept very well
the previows night.

(1) very asleep

(2] very sleeping

(3] very sleepy

i4) very slecp

5 Mo correction reguired

e

63, She waited with bated breathas

annaunoed.

(1] as bated breathe”

(2] for healing bredth, -
13) with btntﬂﬂ,.-bl‘l.‘aﬂvh
{4) tx beat breath

] Hﬂwﬂmﬁ lra'f-]

64. As Veena' got ready o leave for
the exam her mother kissed hes
and wished her lucky:—

(1) swishihier luckily |
{2 wighes herfuck

{3 wishieyg Iver Juckilly
14) wighed fer

(5] Mo corr required

65, He was so tired that he could
barely keeping his eyes open
while driving,

“{1) can barely keep

menmwdmempmrﬂmwerc'

2) could barely keep T1. (1] dancd 2] lived
(3} can bare keep (3 placed s |
14) could bear to keep 18] stayed |
{5} Mo comrection requined T2. (1] made 12] crying 1
Directions [66=70) : In each (3] wobd (4] strick
guestion below, a sentence with four (5] rvvited )
words printed in bold type is given. T4, (1) opposite (2] self
These are numbered as (1 ], (2), (3] [3) mean I4) oppanent
and [4). Ome of these foar words print- (5] play
ed in bold may be either wrongly spelt 74, [1) predicting  12) saylng
or inappropriate in the context of the (3 asling 4] teaching
sentence. Find out the word which 1s 15 ing
ins i
B Y J—
swer. If all the words printed in bold (3] challenged (4] rpquest
are cormectly spelt and alse appropei- [E-] I
abe ln the contest of the sentence, mark Tﬁﬁ 121 throat
(5] i.e. "All comrect’ 88 your answer. |.ﬂ board
88, Even though the state has been
witnessing [1)/deaths on & datly
basds, [2)/1t has not hindered (3)/ - |M 2) pleasure
the festivity spirit of the people. (#) rocm
[4)/ All correct (5], "ﬂlﬁ
B7. The player was arrestted (1) for ?ﬂﬂ:l!m [ weaporn
Klcking [2)/ and punching (3] & H (3 where [4] means
diriver cutside a fast-food outlet :SI -
in the clty (4 All carvect (5] /> (%] eured
cided toproved (2)/ his skills
reciting (31 the holy verse [ 5
the book. (4)/ All cormect [5) 2} worried
69, In just ome year Beena 1'- \ M [4) crossed
gl et e R
e e e T > QUANTITATIVE APTITUDE
lated aftments, (4)/ All correct 15— Directions (81-95) : What

oIy, fve words are

fits the blank
ut the appropri-
_ ale wud in h .
v, L (71} arich business-

'man_urtmixq,iﬁmm and young, He
*. was lond of gambling. One day, on a
siness four, he was [72) for a game

i — g{mqunghj.- aveleran gambler who

waig repasted as invineible' in the game.

L7 Whizn the gamme was o, B noticed that

A A g [T3] had resorted to foal play by

ﬂealm.ilr swallowing the dice and pre-

o l.cndl.ng il o be bost. This made the
youry man lose the game, The young
man, however, thought of (74] a les-
soqt to the other gambler, S0, when he
peturned home hie smeared the dice with
poison and dried them carcfully. Next
day, hewent to his opponent and (78]
him for & fresh round of game. The
olher gambler again stealthily put the
diee into his [78]. But once again, he
was detected by the young gambler.
who yvelled, “Let me tell you that what
have you swalkowed s but poison asd
fot the dice.” The cheat writhed in [77)
as the poison took effect, As theyoung
man did not have any (78] to kil the
fellow gambler, ke took out some antl-
dote fram his hag and made him drind,
which induced vomjting. This (T§) the
athuer fellow. He came back to his sens-
es and never [B80) to deceive others in
the game of dice.

should come in place of the question
mark (7 In the following questions ?
BLGXM 5 18+5=7

7 2 14
(3 10 {4 175
(5] Mone of these
3 1 ]
aa. 12E+4Ex3§—?
1 a
(1 2'35 (2} ETE
i 28 () 26—
1%
% Mone of these
B3 %M%UF% of 450 =7
{1} 90 [} 120
[3p 240 [4) 1BO
[5) Mome of these
B4. B934 - 3257 » 481 = 7 + 2578
[1) G158 (3 3580
[ 3040 4] 3400
(5] Notee of these
BS. 8424 + 135 % B = 7
{1 124.8 [2] 2456
(3 374.4 [4) Z74.4

i5) Mome of these
BRI12x35-85x=x32a7
[ 14.8 (E 18.4
[3 652 4] 16.8
(3 Mone of thess
BY. Z3.56 + 134,94 + 414225 = 7
(1] 430225 {2) 4300,75
(3 430125 (4] 4300.25
[3) None of these
85, 35% of 430 + 7 % of 360 - 276.5
{11 30 [2) 25
1 45 [# 15



{5 Nome of these

. %af&ﬂ'? + %n!‘daﬁ =7

102. Mohan purchased an article and

sold it for Ra. 2817.50 and
ecamed 15 per cent on the aost

the digit in the undt's plece s one.
third of the digit in the tenih's
plece, What s the w&d.i.i:ll: TIIET-

(1) 24 IE*EUE Pﬂﬁbmvmﬂi:mlpﬂn& ber 7
(3) 480 (4] 60O el i ale i) 26 2 31
15) None of thes {1y Rs. 2,500 13) Rs. 2,450 i3 93 (4) 62
0. 140% of 450 + 24% of 650 = 7 3 Rs. 3.650 {4 Ra. 3.315 {5} Cannot be determine
(1] 786 2] 474 {5} Name of these 110, The averags of fowr consecutive
(3] 8O0 (4] 485 103, The difference betworn the av- oven numbers 13 27, What is the
(%} Mone of these erage of three conserutive meen largest fiurmber 7
5 N 5 numbers amd the mragcm’ﬂm (1) 32 2 25
LA ea2 po03r next fwe consecutive even nusi- a0 34
Mgt 3 ber is 5, What 18 the first even L “]
. ; number 7 [ None of these
42 E= 111.The ratio bebween the present ages
(43 ol 2 () 10 (2 12 of Pand @ Is 3 : 4 respecitvely.
" 5 [3 14 g henee O will be fve
i3 :'.E 4 55 {4} Cannot be determined then P. What s Fs
b 19 None of these : pre 3
= i‘-:lan:nl' 104. Cost of 24 bats and 32 sticks is Apyeas ™
2. /7 +15% - 235 Rs. 5,600, What s the price of @ 20years™.
i) 10 [2) 121 3 bats and 4 sticks 7 o e
30 144 (4 100 (1) Fes. 1,400 (2) Ry 2,800 o §4] Canset b determined
{51 Nans of theas (3 Rs. 700 " Tomeof these
34x4-12x8 4] Data inadequate /™ 11 taufay spends 40% of the amount
6% + 186 +(11F i3} None of these A e regbived frem his father on
108. Which of the following has the / expenses, 20% on books
(1 An @ fractions in descending eeder? statlonery and 50% of the
121 171 5873 an7 on transport, He saves
14 50 ) === @] ===, 8 /A\-\ " R, 450 which is hall the ramain-
| B 4 1= 711987 57 9° 1% N g ing amount afier spending on
ki 8 763 5537 ™ ~  hostel expenses, booka ete. and
(5} Mone of these B geTsH ﬁr?mﬂ Ay transport, How much money did
B, 2.03% of 1400 + 4.2% of 450 5 1 of ¢ ._&__ \ he get from his Exther 7
i 108. A 160 metre long taES rans y, (1} Rs. 3,000
:1. 16.09 ta] 1::'33 at aﬂp&dﬂfﬂﬂ i -t lEr" R, E-\..m
(3 24.42 4} 46.51 platform in 18 Wiatie- " 5} Re. 4,500
15 Mone of these the length of the p;lar.rai,-prm me_ ,.f {4} Canmot bea determined
Lt ek {51 Nome of these
1] 210 -2 Edg 113.45% of a number s less than ils
(¥ 620 (4 2310 i3 260 ’f E4% by 38. What 1s 20% of that
{8) None of these (5] Nonc of number 7
Directions (96-100) : What 107, 75% A (1) 20 (2] 40
hould come in place of the question of ’ (3 10 [l 60
1ark (7 4n the iollowing number se- : % e firgk mum- (B} None of thess
les ? e h-¢ secomd number re 114,12 Men can complte one-thisd of
#.8 39 160 484 ¥ xI]J'E “]:‘(5\ the work in 8 days. In hew many
(1) 221 (2 463 1a Ti] 15: 14 days can 16 men complete that
{3 1391 i4) 827 * 1) 15 18 T wack?
{5 Mome of these m:;“t.{fhm (1 18 12
97.4 B 14 51 7 MWHUhcthedUIm-zmnhc (%) 24
(1] 158 12 156 e ‘Htwmnjhemmpaundim.grﬁlm 14} Cannct be determined
[: 260 v 4] 208 ;o - slingle Interest at the rate of B {6] None of these
15 None of these f i p-c.p-a. on an amount of Bs, 115.What is the )
98.7 & 17 42 ¢ . -7} 4,000 at the end of twn years 7 e K Ik
(11 67 2] 78 e AR 10 m. 92 45, 25 8o
i3 a1 [4) 106 - (2l Rs. 20 (1] 48 [2 54
(5 None of these i3] Rs. 25 (3 56 M 50
BO.6E 6 15 50 7 4] Data nadequats [B) Mo of these
1) 207 @) 157 b I8 None of these
3 155 (4] 205 e 108, The difference between the dig-
{5} Noné of these L. its of a two dight number 1s 4 and
o0, 720 243 B} 29 e Directions (116 - 120) : Study the following table carefilly and answer
i 18 T'-;H g h Lhe guestions given bebow :
(3 3 [4) 15 Number of students in Five Disciplines of a college over the years
oL .[;1 Nnn:nﬂ';(‘:lin: i |;:.-_.|: Arts | Bclence | Commerce | Management | Agrictlture
& rat tween s and
girls in"a class 1s & : 5 respec- Year
muhaﬁamﬁiﬂ“ the: 2001 240 | 358 275 215 314
then the respechive mm:'h“f 2002 260 | 380 256 FRTY 565
comea 11 : 7. What s the num- 2003 275 374 265 259 3G
:;;T;; L ol ”E" i nas 3 200¢ | 254 | 368 290 255 348
(3] 44 H; g 2005 206 415 272 254 316
% None of these 7006 | alg | 482 364 276 33|




118, In which vear the pereentage
change in the case of Agriculture
discipline was highest from the
previous year 7
(1) 2002
[3) 2004
5] 2006

117. What was approximate pesgent-
age Increase in the number of
students in Commerce diseipline
from 2003 to 2004 7
1 14 2] 18
19 20 L]

(o) 22

118, [n which yearwas the difference
I mumber of students 5 ARs and
Selence exactlr 130 7
(1) 2001 [2} 2002
(3 2004 (4 2006
5) Mone af thess

118, The tolal mumber of sludents in
Agriculture in 2001 and 2005
together was approximately wil
per cent af number of students
from the same disciplive in 20027

n7e 2] 165
i3 65 4] 175

(@ 120

120, In which discipline was there a
continuses increast in mamber of
students aver the given years 7
(1] Sciemes  (2) Agriculture
(3] Arts 4} Commerce

_ (5] Management
REASONING ABILITY

12 1. walkeed 20 metres towernds West,
took a left tum and walked 20
metres. He then took a right tum
and wallked 20 metres and again
tadk a rght turm and walked 20
metres. How far is © now from
the starting point ?

1] 40 retres

2] S0 rretres

(3] B0 metres

{4) Daata inadegquatle
(5] Mone of these

1220 A calumn of thicty boys: M s
elghth from the end and J is

(2 2003
(4 2005

twelfth from the front. If there
are six hs between J and Q)

how many boys are there I.'-er'.mm
Mand 3 ? .

{11 10 2z o~
(38
(4] Data inadequate ",

(5) None of these .~ ™,
123.In a certain code, '3 4 5' means
‘oomme aed 2o and ‘5.9 T mearnis

"o back now’, 'fhan oed Wmeans

——

in that code 2
(Uback /% () O
(3) back frngw
4) Data nadequate
(5] N these /

124. F‘nur_pfﬂae Th,gﬂwfm alike
in a cartaln -a.-:g.r and &0 form a
greap, wmu@mmm

"y

not I;-:Iumg{c-ihﬂ Eroup 7
1 115 (2] 151

(5} 253 (4] 391

[5) 345

128.How many meaningful English
words can be formed with . the

e "

letters EVRA using cach letter

" only once in each word 7
{1) Hee {2} One
(3 Two {#) Three

(5] More than three

1268.Four af the following fve are alile
in & certaln way and so form &
grougp, Which is the one that does.
not Belong to that growp ?

(1oMg (2} HFJ
{3} TPR: (4] TRV
B VT

127.In a certain code” GATHERS is
written as UBHGRQD. How is
SEALING written inthat code ?
{1} BFTEHMF ({2} BFTEFMH
[3) BFTMHMF 4
[4) TFEEHMF
(5] Mone of these

IE&*S]DE‘ is written as DSIE" and
ROAM 18 wrillen, &s "AROM: in
the same way as DLUCE 1% writ-
ten as ——
(1] KDL (2} KCLT
2 COEL (4] CDUK
(5] Mone of these

128, How many such Mmﬂﬂ@hv{
there in the number 59 126874
each of which hﬂa.anumaﬂig‘\ \\

its between therh in the nuniber ™. ,;"’;

as when the digils are.reak; ""-.
ranged in descendifig-erder, !
armong them Mﬂ‘unr{ue riurnber? - \‘}
[1] Mone (2] Ome
(3) Two g -
[5) More thamn;

130.Each consonantin lﬁ} E.:'!—
ACTION is rl:pl'-a!':bd h:.rlh

glis a
B@;mm S:"““
b}' the
h

whl.l;'hﬂ

fiollowegiE —will e l.'he fourth

& rlghl; end after the re-
n: E;

‘}U

ﬂrm:h.

1) R ]
A B -
f H" ghﬂme df}rjm

x‘*-_ 131, I-I:-u;:w many such pairs of kellers
L AR {here in the word SERVI-
" . TUDE each of which has as
ﬁfnmrhm;mbmmenmemmuw
o, = word as i the English alphabet?

./ / (1)None (2] Ome
(&) Twa (4} Three
(5] More than three

Directions (132 - 137) : Imeach
aof the guestlons below are given four
statements {allovwed by’ three conclu-
sions numbered I, I and [T You have
t2 take the given statements to be true
even i they aeem to be at varance
from cormmanby kaoum facts, Read all
1he conclusions and then decidewhich
of the given conclusions logically fol-
lows from the given statements disce-
garding commonly kneum facts.

132, Statements :

Some nails are plates,

Some plates are disks.

All disks are mirrors.

All mirrors are byres.

Concluslons |

1. Some tyres ars plates.

1. Some tyres are nails.

ML Some mirrors are plates,
(1] Omlby L and [1 followr
(&) Oy Laned [ Follow
1) Cnly I and 1] follow
{4} &l 1, I and 101 follow
15} Hote of these
133, Statements :
Some windows ara lakes.
Some lakes are forests,
Some forests are hills.
All hills are curtains.
Conclusions :
I. Some hdlls are windows.
Il Some curtains are lakes.
forests are windows.

«—#ttapds are branches.

mada are fruits.
lru.ir.: ace trees
¢ Conclusions:
L Some trees are tapes.
Il. Some fruits are tapes.
10l Some fruits are branches.
1) Mone follows
[2) Omiby 1 fedlows
(3 Oy 11 follows
fd} Omly 10 folloss
{5 Onlby 11 and I follow
145, Statements
_ Some beads are chairs.
All chairs are trucks.
Same trucks are bricks.
All bricks are cars.
Conclusions :
L. Some cars are chairs.
Il Some cars are trocks.
1. Some truckis are beads.
1) Omily T and 1 follow
(2] Comly [ and 11 follow
(3 Caly 11 and [ follow
{4y Bl 1. 11 andl 100 fedlow
(5] Mane of these
1358, Statements :
Al floveers are louses.
All beonses are tgers.
All tigers are goatsa.
Some goats are bullocks.
Conclusions : .
I. Some goats arg Nowers.
1. Some ligess are flowers
(11, Some builocks are tigers-
[} Qdy 1and 11 follow
{2) Qmby 11 and 11 follow
[3] Caly | and I follow
[4} Al L, I and I follow
(5) Mone of these
137, Statemments
All shirls are hats.
Mo hal is sull.
Soyme rings are suils.
All rings are banghes.
Conclusions :
1, Some rings arc hats,
I[. Some bangles are suits.
111. Mo ring i& hat.

//‘ xﬁ \"Spmcbranch:s-mmﬂds--
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2] Only 1 follows hﬂmnmﬂm‘tdﬂunﬂthﬂnﬂg
(3) Omily T follows to that group ?
(4) Only either 1 er I follows :;::15: ﬁ;ﬁ;:
clther 1 as [T and 17 fal-
S Baeu
Directions (138 -141) © S5tu 140. Which of the following is the
h:hﬂnwmgm:m@unaumum-gﬂ twelfth 1o the right of the sixth

nswer the questiona glven helow : from the left end of the above

R3AM®DIBUJ2R®F arrangement ?
IKES WP4BVEOEY &5 E;ig Ei]li.
(a8, If all the symbols are dropped
from the above arranger:frfr.. (5] Wone of these
which of the following will be the 141, How many such numbers are
thirteenth from the beft end ? there in the abave arrangement,
(WK (2 E each of which ts immediately pre-
(31 (4} F ceded by a consonant and dmme-
(5) None of these diately followed by & symbel ?
136, Four of the following fve are alike HIH [ﬂ?;:&
in a certain way based on their 3Ty
positions In the above arrange- (5} More than three

Directions (142~ 145) : In each question helow Is given a group of letiers
fallowed by four enmbinations of d.'lgi.taq;s_ﬂ'l'lbﬂ'lﬁ nurrbered (11, (2], (3} and (4},
You have tofind out which of the combinations earrectly repressnts the group of
letters based an the following coding system and the conditions that follow and
mark the number of that eombination as your answer, Il none of the four
~ombinations correctly represents the group of letters, mark (5] i.e. "None of

students of a echool, They study in
Standard 11, TV and Vwith atleast tao
in any one standard. Each of them has
different chaice of colour from-blue,
red, green., yellow, black, white and
brown, not necessarily In the same
order. M studies in Standard IV with
enly Drwho likes red colour, A studies
in Standard ¥ and dees not like either
biluae o geepn. H dioes not study in Stan-
dard V and lkes yellow colour, P and
J stwdy In the same Standard bt not
with A, Mone of these who study in
Standard M Ukes white, The dne who
tikes black studies in Standard V. J

tkes brown i P does nat like blee

Iil=H- Black
-K- Blue

/ / ﬁyﬁm jﬁtfml{mﬁngemﬂmm-
Lefms s nitely cormecd ¥
/ / )

thess' as the answer, ““xh : w—aD—L IiE:::ue
AR |U W [J L 2 PeET)
FLE:I-::..:; AR P M D ElTlpl2|F "y H‘NH %) adl are inoorrest
Ejl.'tmbﬂ elrlala|elefr|afn|a]|5|% (@ 6 |F \ » Which colowr does A ke 7
Cods I L/H"“'::}l ' (1) Brown () Red
3 - ) [ White
{f) IF the EIrE-t letter is a vowel and the letter ia a consonant, both are to be '“-—-_____ 14} Data inadequate
coded as the code for the vowel. "r_ I5} Mone of these
{if} 1f bath the firat and the last letter are consonants, hnmﬂtwhcﬂudEG k “‘; 154. Which colour does K ltke ¥
the code for the last keiter, bl i1] Green 12} Blue

i) 1 €he first letter i a consonant and the last better 18 a vowel, b
coded as i,

are definitely
142, IDUFR] Fanp— {{I &N.y\
0 19@878 () SoaaTh sion [ 15 trug——
@ 198571 (4 5essTL Give rlﬂ}ﬂ'mhr?ﬁnclu-
6] Mone of these sion [1 s
ither Conclu-
143, UIWaMA o lpﬂ:v*ag\dml i?r'w:¥
- a m&&&:: ulm i}lvl‘.frn:lth:r Cori-
3 ewshna H f o]l I THE.
5} Neme of these swer (5] If both Conclu-
144. RIQHFF Ebms I armd 1T are troe.
(1) 814588  [2) 7145858 .-'i'lﬂh mients
(3 & 1485%  [4) Bl458T A K K%wD DSB
(%) Mone of these ! :_,*’ joms: [ H2B
| A3 neak
145, MPAPQE i ¥
(1] 200842 {2 398842 - - AT, Statements
{3} A9RA43 14]29@549;‘ S A ‘M F,FOR R*K
{8 Mome of these : T Coneluslong: 1. KOF
Directions (146 - :I.w;,,:-huhe '-H? oM*R:
owing questions, the symbols @, B, . / 148.8tatements : F
¢, & and s are used with the follgwing. A%F HOF, M&H
neaning as ilustrated below.; __,; conchustons: 1. MGF
‘P ok ) MeAns F&bqgu&mranmﬂ- i A% H
r than nor equal i . )
@ means Pl ncithhag;rml-* lﬁmm*—; w rew
rtha_nnnrcqunklﬂﬁh o R& M, ) . o
P Mmeans P iz mat gréht-:r Conclusions : :1  on
E "‘-\ _ r',.- ;
han @' £, —_
P % (" means P H not smaller 150, 5tatements :
han (- e JaK KabD DSF
PEQ n‘IE.H.TIR P-ll:;}?ﬁthél' arnall- Cﬂnﬂ“ﬂﬂlﬂ-‘ L. F*K
r than nor greater thail If. F&K

ooy i eachof the follewing ques-
{onis pssuming the n slatements
o be true, find which of the two cone
Jusions | and [T given belodr theri is/

Directions (161 = 165) : Study
the following information carefully and
answer the questions glven below

13 Bl ar Green
4] Data imadeguate
[5h None of these
168, In which Standard do Uthree of
thermn study ¥
(L] Sy L0 2} Only ¥
19 Cnly 1 or v
{4} Data inadequate
[5h Mone of these
" Directions [156 = 160] : In each of
the questions given belew which one
ool ghuie five answer figuses an Lhe right
stwould come after Lhe problem figuores on
e lell, i Lhee sequence were comtinues 2
Protlem Figures
L5, lL-HIP-T

ALFTZ

H:lth

LALFT

AFITB1 BAFIT

Angwer Figures

ATLTE | ACLTH| RGLTF

‘ TZALF

(1
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MARKETING APTITUDE/
'OMPUTER ENOWLEDGE
31. The inskbar is lecated __s.

(1} aie tha slart menw

(2} ab uhi: boltom of the screen

i3 on the Guick Launch woolbar

141 at Lhie dwp of L aCreen

5] Mone of Lhese
82, anolher ward for soltware s

1) input 2] outpant

[0 presgraanm

[4] sysiem

15k Mone of Liwse.

B3, Generally, yaan ave rus Lhe Regys
cle Bin (ol el @ icen lo-

eralidl )
(1) on the desktop
12 o the hard drive
[¥ om the shoricul menu
(4] in the Properiies dialog box
{5) Momne of these

84, The physical arrangement of cl-
ements on & page is referred o
asa document’s ___

168. Which is not a basic function of
a compuater ¥
(1} Copy tesd  (2) Acoept inpat
[3) Process data’
(4] Storedata (3] Mone of these
168, The _____ Is the box that hows-
e5 Lhe most important parts of a
COMmplsr syslem.
(1) soltware (2] hardware
(3 inpul devics
(4] swatem wnit
(5] Mone of these
170, A __ s a collectlon of informa-
tion saved as & wnit,
{1] Folder 12) file
{3 path g
[4) file extension
[3) None of these
171, Peripheral devices such as print-
cre and monitors are considered

o
(1) hardware |2} software
[ data |4} inforcmation

i8] -Mone of these

172. Input, culput, and processing
devices grouped together repre-
sent aln)
(1} molvile device

2} inifulmaLIanmlngqrﬂ: ’/\\\

(Y cirowdt board

(4] computer system
[5) Mone of these "‘*-H.
173, Mmt‘H:bach—ahwcn
n d-:u:-r-

the . which acts
way to the rest of l:
Pgss.

[1) search engine

[1) femtures h re, soft
e among authoriserd
(31 pagination pnzs
i4) grid S/l etwork 2 peotecal
%) Mone of these F; rﬁf’ Hm’ﬁﬂﬂiﬂk ﬁ i TR
G5, Where is dala save] peirnansent- :_ s .~ (8] /None of these
e e AT6. Good marketing requires ene of
I Hrory ST Ahe ollowing
4 S T, = (1) proper planding
(3 CFU 4) Printer H‘-\ o, ) -ﬁfgﬂ-bd st ok
6. ﬁmﬂgncﬁm:?ﬂuingmnut I.I.'un- S 4 (34 good communication skills
aloud comguler files? — [4) knowledge of peoducts
(1] The are colkections ol data y (54 all of these _
gaved 10 & ﬂwg‘ﬂgﬂwdim e 177. The main directory of a disk is
(2) Every file hasia flefiame ™ called the ___ directory.
(3] A fle mqnmudm:sﬂbﬂs&:m s (1) root 12} sub
by the uscr t-indicate l.he (3 folder 4 nebwork
filc's otrefils [ Mone of thess
[4) Flles -!_:-|.1_|al|ycull'|lalr|-d.al.:| 178. Marketingisa ___
[5) Mone qF4lese (1) ome day effort
LT, What type= :-I'i:m:uput_-:r could be (2 team eflorl

fewaned in p digitalwatch #
{1} Mninfranse computer
{2} Supeér compuater

[ Embeedded comipuler
[4) Nutebook compaaler
151 Mone of these

(3 one man elfort

(4] all ol these 3] None of these
179, Service Marketing [s the same as

(1) Transaction Marlkeling

(%) Relationship Markeling

31 Internal Marketinge

‘ff“

[ Onutdoats Marketing
5] None of these
180, Marketing is influenced by —
(1) prodwct demand
(2} an publlc taste
(3 buyer behaviour
(4] brand image (5] Al of these
181, Antivirus eoftwars isan ocample
of .
1] business softwan
{2} an operating system
{3} 2 sacurity utility
(4} an office suite
[5h Mone of these
1BZ. Markeping in banksis a necessi-

\}B{ n]ns}‘atemhm'dulaum

Ler e the .
1) croult
ebaard

micrechip
(3 Mone of thess
Aln] ____backup contains a copy

ol every program, dsta. and sya-
tem file on & compuber,

(1) restoration (2] bootstrap
(3 differential (4) il
[ None of these

185. Marketing helps in ___
[1) boosting production
[2) getting new clisnis
[ intermeting with strangers
(4 Al of thess
(5 Mone of these

186, Computer programs are written
in @ high-leve] programming kan-
Fuage: however, the human-read-
able version of a program |s called
[1) cache
[ instruction sal

" [H source cods

[4) word skze
[3) Mone of these
187, Marketing of services {5 resorted
i —
(1) manufacturing conserms
[ Insurance business
[# hotels
(43 Crnly (1) and (2]
(5 Only (2) and (3]
188. Marketing s the art of —
[1) buying rmore
(2] paying more
[3) selling more
[4) talking miore
) Omly (1] & (3]
169, Merket Share means —
[1) Share market
[2) Share prices
(3 1PO=
(4 Scopefor marketing
3 Share of business among
peers
180, A DSA (Direct Selling Agent) is
fm—
(1} Whe sells through the Inter-
nef,



(¥ Who sells direct to the cliznt
{3 Who works on the bank
counters
4] Who works in back office set
_ up
5 None of thess
(1) Marketing to sell
(2] Marketing to family members
[# Marketing to the stafl mem-
bers
{4 Marketing inslds Indis
15 Marketing outaide India
182, A goud and effective DSa
should—

(1 Copy the competitor compsa-

fy
(%) Critlclze the competitor com-
prarny
(¥ Jointhes competitor company
[4) Be passive
[H Be more effective than the
comgtitor comprany
193, ADSAhelpsin
(1) Boosting direct sales
{2} Bocsting sales through the net
13} Strengibening Indirecl mar-
keting :
t4] Strengthening Tebemarketing
{5 All of these
184. Which of the follewing statements
is eorreet 7
(1] Marketing is not required doae
to globalistion ]
(%) Marketing causes higher ex-
penses and losses
(3 Marketing is not pequired in
profit-mealing companies .
(4] Marketing sharpens the
minds of the employees
[5) Marketing s a waste of tme
in established companics
185, A trus marketing mindset re-
quires —
(1} Control mindsct
2} Command minds:t
3} Passive mindset

{4} Active mindset
{5} Ireert muindset

186. Modern styles of markstingare—
(1} telemarketing s

{2} web marketing

(3} advertisement on thenet |

(A} e-mails L

{51 All of these FA-

(4) Creathity
5] Al of these

187, Sellingis— Ty, Ry
(1} Different from Marketing. R

{2l Asub-function of Marketing~.

13] Same as M iy ]
4] More than Marke ’

—_—

(5] None of these ™~ — s
198. Good selling skifls Invobie—
: i1 Patlesice | e F
i) Perseverance et
@ Bmpdthy 7
14(mmm_edgq ay
5} Al of these

199, A ‘Lea.In marketing jargon,
meAng— .
(1) ametal
(2 aleash -
(3 alikely consumer
(4] ateam keader
(5 Mone of these
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B4, () The meaning of the word Con-
- oede [(Verb) as used in the pas-
= sage is : to admit that something
is true.
Hence, the words conceded and
reaisted are antonymous. |
58, [2) The meaning of the word Righ-
teous [(Adjective) as used in the
passage is : morally rght and
good

Hence, the words wrong and
righteous are antomymois,

56, [31 C 57.3 F

58D B8, (1) A

G0, (2B ]

6L (1} A man of few words means
wheo doesn't talk very much,

62, (3} Very sleepy means:: needing
sleep: ready to g to sleep; drow-
Y. .

63 (3) With bated breath means ;
feoling very anxious or excited.

64, (4) Here, wished her hisck should
be uzed.

&5, (2] Here, could barely keep
alvould be used
Look at the sentences :

He was oo weak to walk.
He was so week that he couldn't
walk.

66, (4] Here, festive [Adjective)
should be vsed.

a7. (1] The comrect spelling 1s : ar-
Tested, -

B8 (2] The appropriate ward shoulbd
be : prove. Look at the from of
an Infinitive : to + ¥,

. 88, [3) The appropriate word should

I be:prone which means : lable;
tikely to suffer from something,

| 70, (5 All correct

| T1. (2) bived

| 73. (4] opponent

| T (4] teaching

{ TS, (3} challenged

T8, (5 mouth

78. (1) intention

7. (2] cured

630
18x5

T2, 15 inwvited

77.(3) pain
B0.{1) dared

BL {1} * =

S 21 11
T L BV L
82. {3 7= 125+ g

3 " 3 2
- IEE+?—I2+E*IEE

=12+ 15 +

njca

+2_08
5

5§ 3 2
B3 7= dﬁﬂxix:xg_m
Bd. [2) 8034 - 3257 + 481 =7 + 2578
= G168 = ? + 2678
= 7 = G158 ~ 2570 = 3580

BE. (3 ?= BE? ¥ E=374.4

B8 (1) P=l2x3b=-86x32
=42 -27.2= 148
BT. (4] 7=23.56 + 134,44 + 4142 25

= 4300.25 :
430x35 380x7 '
B8 [ e = TES

= 150.5 + 3.6 x 7 = 276.5
= 3.8 x 7 = 276.5 - 150.5
= 126

126
=—=:'!|
= ¥= 38 B

Eﬁ?'ﬂﬁ_+ 4853
- L+
= 316 + 29] = 508

45ﬂ}:!1ﬂ+ G50 = 24
90.(1) 7= 100 100

= 630 + 156 = T86
16 219 3

oL (4 o x T+ P23

BO. (1) ? =

8 3
82. [4) J7 +225- 235
= J7 =235 -225= 10
57w 10w 10 = 100
136-96  _ 40
3 +14+121 171

1400 = 203 +150x4.2
100 100
w 28.42 + 18.00 = 47,32

s =

B (W ?=

9. (3 7 =

84, (4) The pattern of the number
geries §s
BuB-1=wdd=~1 =39
Wxd-1=1856-1= 155

155 =3 -1 =485 -1 =464

464%2-1=926-1 = 927
B7. (5] The pattern of the number

series is @

4x1+12=8

Ex2e2uld:

14=3+32=58]

51 x4+ 4% =204 + 16 = [ 220]
8. (3 The pattern of the nuimber

series 15 ¢

T+13=8

B+3 =17

1T+ 5 =42

42+ TP =42+ 49 =
80, (1) The pattern of the number

serbes 9

Bxl+l=8

Grl+3=1b

15x3+5=80

B0 x 4 + 7 = [ 207

100, (2] The pattern of the number
series ig ¢ ’

T20.4 3 = 243
243 + 3= B]
81+3=27

27+3=[9]

101. (3 Number of boys = Gx (let)
Number of girls = 5x

CGx+B 11
v Bx-2 T
=3 DSx =22 = 42x + 56
=5 56w - 43x = 56 + 22

78
= 3xcTE= x= =0

13
& Mew number of boys = Gx + 8
=8x 8+ 8=k

102, (2 C.F
100 ”
= 1040 + profit peroent

100

— x 2R17.50
"
= Rsa. 2450

103. (4] [t is a general theory,
E+10 2+44+86

5P

=%
2 3
12+10 _4+6+8
2 5



104, (3) 24 + 32y = 5600
" Dibviding both sides by 8, we have
3w Ay = TOO
8

1'Il1=l::Lﬂi

108 (3] g:ﬂ.‘i"li :

108. (3) Speed of the train

5
= [Elﬂxﬁ] metre fsecond

= 25 melre/second
I a train crosses a platform,
then, -
Speed of train

Length of {train + platform)
= 7 Time taken to cross it

160+ x

i T
= 450 = 180 + x _ _
= x =450 - I_Eﬂriﬂﬂmtrt
4

75
) XXj00 " ¥*5

.. 5 E
= 4| —| =
TN

100. (4] Number = 10x+ 5

& x-i:.{..

3
4wl

- B
—--4 ] l:ﬁ
=3 = X ;

. ' 8
v Number = 10 x & + 'a—-ﬂE

110. () x+x+2+x+44x+8
=2Tx4

= 4x+ 13 = 108
= 4y = |08 - 12 = (i

96
- r —
.

. The largest number = x + &
=2&+ﬁ=30

. 111. (1) Let the present ages of Pind
@ be 3x and 4x years respec-
threly.
After 4 years
dx-3x=5 .
nxmB
Fuwmmage:ﬂx:.‘i:ﬁ
= 15 years

112, (3] Total expenditure percent

: .{40+‘3ﬂ+dﬂk%}6'-_ﬂ£ﬂi

% of 20% of x = 460

wi ¥ m 450 % 2 w5 = Ra, 4600
113, (Z) Let the number be x

) [64—45}3.1:-
i 100
38 = 00

9

as

= X'= 200
200 = 20
100
114. (1] 12 men can do the work in

24 days.
& MD =MD,
= 12x24=16=xD,

12 =24 18 I'.‘h!.'ﬁ

- 20%0 alf 200 = =40

=D.= "5

118. (5) Required average

A8 +92 + 45+ 25+ 60
= y 5

260
=S e
118. [5) Rercentage increase ;
Year 2002
=p35-"§5~|_—:l'-x|m-lﬁz4
Year 2008 gt
383 - 326
-—:'ﬂﬁ — M
117. (4} Required percentags incresse

B o A 00w D

100 =17.48

LT

118, (2) Year 2002
= 300 - 260 = 130
119. {4) Required percentage

314 + 326
£ m— 100 = 175
365

130, {3) There wnas a continwous in
crége in e number ol shudents
in Arts discipline.

131. (1)

Morth

& £]

B
- Wiesl (—I—) Exis
= 20m

South

Required distance = AB + BE
= [20+ 200 m =40 m

123. (4) -

[ 12th
=9

E_%-Ehh
123, i3)
3 4 @ —% Come and@

(B) 8 7 ——»(E0) back now
Thé meaning of 'S is back’ o
now',

124. (3 Except number 345, all odh
er numbers are product of 2
and a Prime Numher.

115 =23 x 5 18] = 23 = T
3= x11; 381 =33 x 17
But, 345 = 23 x 15.

The number 15 s not a Prim

128. [2) Meaningful Word = RAVE

128, [ o—2 M= 0
gy g
T p— R
A M .y

Vet %



a H E R 5
+L* -ll_-l
U B H ¢ R @ D
5 E A I ‘N 'G
B F T K F M H
128, (4] ’
1 223 4 3 1248
SIDE—»D S IE
1 23 4 3.1 2°4
E O A M—32A RO M
Therefore, '
1 2 3 4 Al e 4
. bUCK—CDUEK
126, (4
B 9] ¥ 8 819 4
8 B 7 6 5 4 2 1

(132 - 137) :
fl All disks are mirrors — Uni-
versal Affirmative (A-type].
i Some plates are disks — Par-
ticular Affirmative (I-typel.
[iff] Mo hat i suil — Universal
Negative [E-type).
(v Some hats are not: suits —
Particular Negative [O-type).

132 (2} Some plates dizka,

L

Al dishs are mirrors.

1 +A = [ -type of Concluaion
“Some plates are mirrors.”

All disks are;-lalj;orsi '

A+ = A -type of Conchusion
“All disks ave tyres.”

Some plates TOrE, ~

All mirrors are tyres.

[+ A= ] -typeof Conclusion
*Some plabes are tyres.”
Conclusion [ is Converse of it,

133.01) Some i'.:'rewmlls.

Al hills'are curtatna,

I+A=1-type of Conclusion
“Some forests are curtaing.

134.04] Some m";//m“ﬁmads.
Al roads are frilts.

1+ A= 1-ope of Conclusion -
“Some branches are frofts *

185.(3) Some beads are chairs.

All chairs are trucks, -
144 = -type of Concluaion
*Some beade are trucks.”

Some trucks are bricks.

All hﬂﬂtfa.re CArS.

I +A = [ -type of Conchesion
“Bome truchs are cars,”
Coneclusion I is Converse of it.

138,01 All flowers are housas, ;

All houses are tigers.

A+ Ao A-fipe of Conclusion
“All Alcrwers are Ligers.” -
Concluaion I iz Converse of it

All humes;m;j%m‘s.

_t.-r"
All tigers are goats.

A4 A= Astype of Conclusion
Sl hoiiges are goatg.”

Allifloaers are tigera,

Afll tigers are goais.

Conclhuston Tl s Converse of it

Concluston I 'is Comverse of it.

‘Concluson I is Converse of it.

|

A + A m A -type of Conclusion
“All flowrers are goats.”
Conclusion | is Converss of it.

137.(5) All shirts are hats.

Mo hat is suil.
A+ Em E-type of Conclusion
*Mo ahirt & swuit.”

Some stits are rings.

Al rings are bangles,

+ 1+ A= 1 -type of Conclusion
- “Bome suite are bangles.”
- Concluslon 11 is Converse of it.
Conclusions I and I form Com-

 plementiury Pair. Therefore, either
[ or I followrs. J

(1} According to question, the new
sequence would be :

thm M[mam'zﬂ@awﬂav Q96 Y S

138,

13th from the lefl end
190 i Mt ,p—3 oa
’ ﬂ-—"i-..i-—i_.g
+2 -3
g oy, T Lp
S S T W
J=p =2 .y
140. (2) 12th to the right of the 6th
from the left end means 1B8th from
the left end, i.e., &.

141. (2) .
[Consonant | Number | Symbol |
There is only one such combina-

tia :
142. (3 I D U P R J
YO AR R
1 9 & 8 7 1
Condition (i} 5 applicable,
M3.4f U K W J M A
N A A A
@ % 6 &5 3 &
144.(1) B I @ H F P
IR Y R R S
& 1 4 5 & 8
Condition (i} is applcable.
5% M D A P Q@ E
1-k ¥ & 1 4
* 29 8O B 4 W%
Condition (L] is applicable.



(146 =150 :

* = > | B =

= 2|8 ==

148, [ HB K m H K
KD =KzD
DEB.=D=B
Therefore, HzsKz>D = B
Conclusions
I. H&EBE = Hs B : MNotTrue
II. B@K = B<K : Tmud!
U4T7. W M%F = M=F
FBOR = F<R
FEx*K = R>HK-
Therefore. Mz F<R> K
Conclusions
[. KBF = K<F : MNolTre
il. M% R = M=>R : Mot True
148. 5 AR F = AxF
H&F =H=zF
MEH ='M<H
Therefore, A>F=H=> M
Conclisions
I.. MPF = M<F : Trige
M A*H = A=H : True
H8. [ RDM = R<M
M oA W M o>W
TGW =T=<W
Therefore, R<M>W T
Conclusions S
L TeM = T<M: True
. T@R = T<R : NotTrue
B0, JBK = J=<K
KD =EK=zD
DEF = D=F
Thercfore, J =K< D= F
. F*K = F>K : MotTrue
II. FEHK = F=HK : HotTrue

Fis either greater than or egqual
to K. Therefore, either | or 11 s

true.
(151 - 158) :
Student | Class Coloar

A v White
M Iv. Black
P 1t Cireen
J m Broam
H il Yellow
o ™ Fed -
K L) Bhe

151. (1) P likes Green colour.

152, (%) All combinations are incor-
rect.

153, [3] A likes White colouir,

154, (2] K bkes Blue colour,

185, (1] F, J and H study In Standard

LI

186, |3} From Problem Figure (1) to
2] bwo designs from the kel in-
terchange positions and a newr
design appears al the second
position, Similarly, two designs
from the fght interchangs posi-
tioms and a pew design appears
at the rightimosl design. From
Problem Figure (2] to (3] the
vight most design shifis to the
lefimioat position. Theae two
steps are continued. in the sub-
sequent fgures alternately,

7157, (2] The lollowing changes ootur

in the subsequent figures :
(1] to (2) 12) to (3]

—E
+ "
i

e & ol

—
e

: .

se—3e|

These two steps are continuead
altemately in the subssquent fig-

Ures,
154. (4] The following changes ooour
in the subsequent figures :
. 11_] tex [2) 2] to (3]
v b
<) V) Cl
—_ + -

These two steps are continued
alternately in the subsequent fig-
Lires, !

158, (1) The following changes occur
in the subsequent fligures

(1) tor [2) (2) 1o (3)
BEL -{—1[1 L

+ t/ i

v

These twg steps are continued

alternately in the subsequent fig-
Lres,

180, |5) The designs V and B rotate

through 80° cloclosdse alternate-

by while the slher bao designs

rotafe 90° mttld:rckwua_e' alter-
.l e

wm

In the next step, the tag .5';
signs from the left move o the
. right and vice-versa, i

16112 at the bottom of the sereen

18243 program

163.41) on the deskiop

184.(2) format

1658.[2) Storage

186.[3] A file extension is established
by the user Lo indicate the flle's
contents

167.035 Embedded computer

LGE.(1] Cogy b

169.04] system unil -

17042 file

17141} hardeare

17244) computer gystem

17342 home page

1742 CFU

ITEA1) network

ITE.[3) Al of these

17701} root

178.[2] team effort

179.i2] Relationship Marketing

180.5) Al of these

18103 a securitr whlity

182.(1] Liheralisation

183.02] motherboard

18403 differential

1851} boosting production

1863 source code

1875 Only (2) and (3]

188.(3) selling more

188.(5) Share of business among
peers

1540, [2] Who sells direct to the client

19113 Marketing to the staff mem-
bers

182.(5) Be more effective than the
cormpetitor company

1968.(5] All of thees

194.(4] Marketing sharpens the minds
of the employees

195.4]) Active mindsct

196.(5) All of these

197.12) A sub-function of Marketing

198.(5) All of these

199.13) a likely consumer

200.(4) Creativity

o ———



